NEUTRAL CABLE ASSEMBLY

EVINRUDE MODEL AP-E

1547

REF [TY |PART NOJ DESCRIPTION
i] 1]547.2 1 CABLE 5 FT MOR 33C SUPREME
21 11499 BRACKET CABLE SUPPORT
3| 1)542 SHIM MORSE A035777
4| 11543 CLAMP CHRYS 154317
51 2562 PAN HD SLOTTED 10-32 X 1/2
61 21635 1/4 WASHER ANSBOCL16
71 2572 BOLT HEX HD 1/4-20 X 5/8
8| 3| 621 NYLOC 10-32
9| 2]621.1 | HEX NUT 10-32 JAM
10| 2 553.2 | BALL END 1/4 X 10-32 CABLE
11 1] 82 1/4-28 HEX JAM NUT |
12 1 2624 NYLOC 1/4-28 |
13| 11199 PIVOT-CABLE END, ReV D |
i4] 11562.1 1 PAN HD SLOTTED 10-32 X 5/8
15| 1546 CLIP OMC 305736
16 | 11564 OMC CABLE ADAPTER

- 34.4 -



